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NEW QUESTION 1
Cisco TrustSec software-defined segmentation is simpler to enable than VLAN-based segmentation. Which of the following is not a feature of TrustSec?

A. Diversified compliance

B. Apply policies across the network
C. Lower operational expenses

D. Reduce risks

Answer: A

NEW QUESTION 2
AMP for endpoints decreases time to detection. What is Cisco's security time to detection?

A. 8 hours or less
B. 7 hours or less
C. 10 hours or less
D. 6 hours or less

Answer: D

NEW QUESTION 3
What does Cisco call the intelligent, closed-loop, and self-optimizing system built on Cisco DNA?

A. The Assured Network
B. The Automated Network
C. The Encryption Initiative
D. The Network Intuitive

Answer: B

NEW QUESTION 4
Cisco DNA Analytics and Assurance allow users to automate network performance management in all of the following ways. Which is not true?

A. Simplify management

B. Gain network visibility

C. Save time, solve problems
D. Turn insights into

Answer: D

NEW QUESTION 5
Cisco is positioning itself to recognize greater value and superior differentiation and deliver better business outcomes for its customers. Which of the following
statements is not true?

A. They aim to price models in a more user-centric approach
B. They aim to provide filexible approaches to service offerings
C. They aim to provide more solution-based offerings

D. They aim to adopt personalized offerings to their customers

Answer: D

NEW QUESTION 6

Cisco's software defined access allows customers to get network speed, security and peace of mind. Which of them is not one of the capabilities?
A. Secure from evolving threats

B. Limits the network access

C. Prepare for loT growth

D. Adapt to mobile demands

Answer: D

NEW QUESTION 7

Cisco Catalyst 9000 is built for SD access. Which of the following are the features?
A. Fixed access, future-proofed and mobility

B. Convergence, fixed core and first in enterprise

C. Future-proofed, industry's unmatched and first in enterprise

D. Fixed access, industry's unmatched and first in enterprise

Answer: B

NEW QUESTION 8
One of the conferencing solutions for recording and streaming simplifies the process of capturing and sharing many types of content throughout your organization.

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 700-150 dumps!
rJ CEFtShEI,I"Ed https://www.certshared.com/exam/700-150/ (122 Q&AS)

Name the product.

A. Cisco TelePresence Content Server

B. Cisco TelePresence Exchange System
C. Cisco TelePresence Server

D. Cisco TelePresence Recording Server

Answer: A

NEW QUESTION 9
Cisco 1000 series integrated services routers are fixed, high performance routers. Which is not a benefit of the routers?

A. Connectivity

B. Ease of use

C. Exclusivity

D. Comprehensive security

Answer: C

NEW QUESTION 10
In terms of Cisco's business outcome sales roles, there are many variations in the teams that engage with customers. Which of the following is not one of these
teams?

A. Services team
B. Account team

C. Team leadership
D. Marketing team

Answer: D

NEW QUESTION 10
How do you define a business outcome?

A. a process of estimating future sales

B. a measurable result of an activity or process within the business

C. a plan that positions a company's brand or product to gain a competitive advantage
D. a strategy that sets out sales targets and tactics for the business

Answer: C

NEW QUESTION 15
Cisco HyperFlex delivers complete hyperconvergence. Which of the following is not a feature of this solution?

A. Portable database applications
B. Flash-optimized system

C. Flexible scaling

D. High data availability

Answer: A

NEW QUESTION 17

Customer relationship takes into consideration the conceptual nature of person as compared to their detailed nature. What does conceptual nature means?
A. The conceptual nature of a person is about their knowledge and their intrinsic and extrinsic motivations.

B. The conceptual nature of a person is about their work experience and their intrinsic and extrinsic motivations.
C. The conceptual nature of a person is about their personality and their intrinsic and extrinsic motivations.

D. The conceptual nature of a person is about their attitude and their intrinsic and extrinsic motivations.

Answer: C

NEW QUESTION 18

Which of the following describes the benefits of Cisco intelligent automation for cloud software?

A. It defines the deployment and management requirements of an entire application stack.

B. It automates sophisticated data center and standard business processes from a single, selfservice portal.

C. It builds a robust security architecture while significantly reducing WAN costs and time to deploy new services.
D. It includes Wireless LAN, Security/SD-WAN, Switching, Mobility Management, and Insigh

Answer: B

NEW QUESTION 21

In terms of technical focus ("business alignment"), which is not a phase in this approach?

A. Discover
B. Propose
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C. Design
D. Purchase

Answer: D

NEW QUESTION 24
Cisco was the first company to provide which product commercially?

A. Remote access devices
B. Fibre-optic networking
C. Multiprotocol routers

D. Wireless networking

Answer: C

NEW QUESTION 26
Cisco Unified Data Center offers some benefits to customers. Which is not a benefit?

A. Gain control over increasing complexity

B. Sophisticated capabilities made simple

C. Deliver more value, faster to all lines of business
D. State of the art infrastructure

Answer: B

NEW QUESTION 28
Cisco Fog Data Services are software services that deliver edge analytics, control, and security for data in the fog. Which of the following is not a feature or
benefit?

A. Network compliance

B. Analytics at the network edge

C. Application control of IoT sensors
D. Security and privacy

Answer: A

NEW QUESTION 31
As a Cisco partner, you will get the support to differentiate your business and grow based on the unique value you offer. Which group shows the type of discounts
available?

A. Value Incentive Program, Teaming Incentive Program, Opportunity Incentive Program

B. Migration Incentive Program, Opportunity Incentive Program, Teaming Incentive Program
C. Partner Plus Program, Migration Incentive Program and Teaming Incentive Program

D. Migration Incentive Program, Partner Plus Program and Teaming Incentive Program

Answer: B

NEW QUESTION 35
Cisco Intelligent Automation for Cloud software delivers the critical foundational layer for holistically deploying and managing cloud-based services. This software
solution improves agility, filexibility, and speed with all but one of the following:

A. Physical resources

B. An orchestration engine

C. Self-service portal

D. Advanced cloud management capabilities

Answer: A

NEW QUESTION 39
Cisco has phones and desktop endpoints. Which of the following is an example?

A. Cisco Webex Board

B. Cisco IP Phone

C. Cisco Jabber

D. Cisco Telepresence 1X5000 series

Answer: B

NEW QUESTION 43
Cisco's certification and global partner network encourages and recognizes partners for their breadth of skills across certain technologies. Which of the following is
not a Badge level?

A. Gold

B. Select
C. Silver
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D. Premier

Answer: C

NEW QUESTION 46

Cisco collaboration edge architecture helps improve the end user experience while offering security, ease of deployment and open-standards interoperability.

Which of the following is not a gateway product?
A. Cisco Expressway series

B. Cisco Unified Border Element

C. Cisco Unified Communication Manager

D. Cisco TDM Gateways

Answer: B

NEW QUESTION 47

Cisco has long been the world's dominant supplier of computer networking products, systems and services. Which of the following is not included in Cisco's current

product lines?

A. LAN

B. Routers

C. Application Delivery Controllers
D. Switches

E. WAN

Answer: CExplanation:

Explanation:
https://en.wikipedia.org/wiki/Application_delivery_controller

NEW QUESTION 51
Cisco aims to transform IT operations with complete hyperconvergence. Which of the following is not a benefit?

A. Data acquisition

B. Always on-storage efficiency
C. Predictable performance

D. Independent scaling

Answer: A

NEW QUESTION 56
The Cisco Cloudlock protects your cloud users, data and apps. Which of the following is not under the coverage of Cloudlock?

A. Facebook

B. Salesforce.com
C. Box

D. Slack

Answer: A

NEW QUESTION 58

A variety of factors drive the target state of the business. Which of the following is not a factor?
A. Values

B. Mission

C. Vision

D. Client engagement

Answer: B

NEW QUESTION 63

A business capability consists of which of the following to enable the long-term strategy of the business?
A. Security, enablement, experience

B. Technology, expertise, process

C. People, tools, experience

D. People, process and technology

Answer: B

NEW QUESTION 67

The Cisco Data Center captures the intent of users and applications. Which is not a benefit?

A. Enhance IT operations
B. Seamless multicloud mobility
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C. Enhanced application performance
D. Pervasive security

Answer: A

Explanation:

https://cdw-prod.adobecgms.net/content/dam/cdw/on-domain-cdw/brands/cisco/intent-baseddata- center.pdf

NEW QUESTION 69

A business requirement is something that is needed by business stakeholders. Business achievements should achieve the following except for?

A. Refilected in a business requirements document
B. Provides the overall direction of the business

C. Provide value to the business

D. Describe what the business needs

Answer: A
Explanation:

https://community.cisco.com/legacyfs/online/ccde_9781587144615 chapterl.pdf

NEW QUESTION 74

Cisco fog delivers business outcomes. Which is not one of the outcomes mentioned in the slides?

A. Improve operational effectiveness

B. Gain new revenue streams

C. Increase product quantity

D. Increase customer satisfaction and trust

Answer: C
Explanation:

https://www.cisco.com/c/en/us/solutions/internet-of-things/iot-data-analytics.html

NEW QUESTION 77

In terms of infrastructure, the DNA centre is powered by 3 key engines. Which is the correct group?

A. Context, Automation, Networking
B. Policy, Context, Analytics

C. Policy, Automation, Analytics

D. Encryption, Context, Analytics

Answer: C

Explanation:

https://www.cisco.com/c/en/us/products/collateral/cloud-systems-management/dna-center/nb-09- dna-center-data-sheet-cte-en.html

NEW QUESTION 82

Which networks benefit from the consistent enforcement policies enabled by Cisco's approach to security?

A. physical, virtual, remote, and cloud networks
B. physical networks only

C. physical and cloud networks only

D. physical, virtual, and cloud networks only

Answer: A

NEW QUESTION 83
Which of the following could be considered a business outcome'?

A. to nounsh people and the planet

B. customer experience/innovation/fulfillment

C. implements direct-to-customer experience by the end of FY 2021
D. respect employees, customers, and suppliers

Answer: B

NEW QUESTION 86

how long is the average time to detection of a security threat for Cisco customer?
A. 28 days

B. 3 days

C. 17 days

D. 100 days

Answer: D
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NEW QUESTION 90
What three key engines power Cisco DNA Center?

A. Identity Service Engine, Network Automation Platform, Encrypted Traffic Analytics

B. Identity Encryption Engine, Network Automation Platform, Network Data Platform

C. Network Control Platform, Network Automation Platform, Network Encryption Platform
D. Identity Service Engine, Network Control Platform, and Network Data Platform

Answer: D

NEW QUESTION 93
In addressing the full attack continuum, what type of capabilities are required before an attack?

A. Preventive and Response
B. Preventive and Detective
C. Predictive and Response
D. Preventive and Predictive

Answer: A

NEW QUESTION 94
Which program requites partners to offer at least two cloud or managed services based on Cisco technology?

A. Cisco CMSP Advanced

B. Cisco Specializations

C. Cisco Solution Partner Program
D. Cisco CMSP Express

Answer: A

NEW QUESTION 98
Which of the following are included in Cisco's current networking product lines?

A. switches, routers, application delivery controllers, LAN, and WAN
B. switches, routers, and application delivery controllers

C. application delivery controllers, LAN, and WAN

D. switches, routers, LAN, and WAN

Answer: D

NEW QUESTION 100
Which Cisco technology uses software-defined segmentation to simplify the provisioning of network access, accelerate security operations, and consistently
enforce policy on the network?

A. Cisco Tatos

B. Cisco TrustSec

C. Cisco Stealthwatch Engine

D. Cisco Platform Exchange Grid

Answer: D

NEW QUESTION 103
With Cisco ONE, what happens when a customer refreshes hardware?

A. The customer can refresh hardware in the same tier and port software at no charge but must purchase new licenses for the next tier of hardware

B. The customer can refresh or go to the next tier or hardware and port or upgrade software at no additional charge

C. The customer must purchase entirely new software licenses

D. The customer can refresh hardware in the same tier and port software al no charge, or go to the next her of hardware and just pay the difference for their
software

Answer: B

NEW QUESTION 105

Which of the following is not a factor that drives the target state of the business al a customer organization'?
A. mission

B. vision

C. values

D. client engagement

Answer: C

NEW QUESTION 108
Which services make up the Cisco Unified Wireless Network's Mobility Services Framework?
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A. Guest Acces

B. Securit

C. Data, and Location

D. Guest Acces

E. Security, Data, and Voice
F. Guest Acces

G. Securit

H. Location, and Voice

|. Guest Acces

J. Data, Location, and Voice

Answer: D

NEW QUESTION 113
Which collaboration product can count meeting participants and provide analytics for usage and resource planning?

A. Cisco MX Series

B. Cisco Webex Board

C. Cisco Webex Room Series

D. Cisco TetePresence 1X5000 Series

Answer: D

NEW QUESTION 114
What is the negative impact of digitization on businesses?

A. Moving applications away from the web
B. Putting demands on the network

C. Making old experiences seem new

D. Increasing the security of data

Answer: B

NEW QUESTION 115
What key aspect of digitization allows the deployment of new services without lengthy and costly investments in server or networking infrastructure"?

A. Enterprise network architecture
B. data science

C. streaming services

D. cloud computing

Answer: C

NEW QUESTION 119
Which component in DNA Center achieves automation?

A. Tetration

B. Network Control Platform
C. Network Data Platform
D. Identity Services Engine

Answer: B

NEW QUESTION 124
Which Cisco cloud-managed solution allows customers to unify management in a secure, browserbased dashboard?

A. Cisco UCS

B. Cisco Intersight
C. Cisco Hyperfilex
D. Cisco Meraki

Answer: A

NEW QUESTION 126

Which type of business requirements define the required parameter for a solution?
A. technical requirements

B. transitional requirements

C. functional requirements

D. general business requirements

Answer: B

NEW QUESTION 131
Which solution offers complete collaboration for midsize businesses up to 1000 employees'?
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A. Cisco BE7k
B. Cisco BE6k
C. Cisco UC1k
D. Cisco Jabber

Answer: D

NEW QUESTION 133
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